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Hl 42 A7|. GSZEH A vs KGCAUM AL (ME, 2022.11.15, 19:00~20:29)
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H 42 A7|. GSEHA

vs KGCOIAZAL (M, 2022.11.15, 19:00~20:29)

2022-11-15 20:34

GSHH A 'S KGCQIAHZ A
774 No Block 37Y
1970 7 07 1 Block 1470 7 07H
537 / 47H 2 Block 6671 / 87H
071 7 07H 3 Block 07 / o7
P22 Y AR "t/ 8B HE
> SE ME ME Al &0 E27{0f [HE SH7|F Hw
GSZE~ 37 Vs KGCRIHZAL 32
- No Block 271 7 171(50.0%)
1470 / 97H(64.3%) 1 Block 1670 / 1270(75.0%)
5770 7 2471(42.1%) 2 Block 427K /7 257H(59.5%)
- 3 Block -
*SAMNE /43 (838)
> MEQ 37 22
> GSZEA
E AE %53 AIZERL ol =42
MBS 2(08.0%) 8(32.0%) 2(08.0%) 0(00.0%) 0(00.0%) 13(52.0%)
MNEZ2| 22(47.8%) 17(37.0%) 4(08.7%) 3(06.5%) 0(00.0%) 0(00.0%)
oA 24(33.8%) 25(35.2%) 6(08.5%) 3(04.2%) 0(00.0%) 13(18.3%)
*SANE (SHREH8)
> KGCRIAZ A
E AE %53 AIZERL ol =42
MIET 2| 8(24.2%) 8(24.2%) 2(06.1%) 1(03.0%) 1(03.0%) 13(39.4%)
MNEZ2| 14(51.9%) 10(37.0%) 1(03.7%) 2(07.4%) 0(00.0%) 0(00.0%)
oA 22(36.7%) 18(30.0%) 3(05.0%) 3(05.0%) 1(01.7%) 13(21.7%)
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Hl 42 H7]. GSEHA vs KGCAL T AL (M2, 2022.11.15, 19:00~20:29)
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- 2R S 2 ST 2008 SL462)/ WM204T, 25 8F

> 2 =9

= ME PN

ol 2y &3 s b B7l | SHME HHE sus s3 =K S A%
1 e Fa= 17 6 0 6 18 5 3.600 550 468 1.175 65
2 a4y 14 5 1 6 16 5 3.200 484 408 1.186 35
3 St 2T A 9 3 3 6 12 12 1.000 503 501 1.004 11
4 KGCRI&tS A 8 3 3 6 12 13 0.923 530 546 0.971 15
5 IBK7| 23 7 2 4 6 9 14 0.643 500 527 0.949 15
6 GSZHA 7 2 4 6 8 13 0.615 436 460 0.948 3T
7 | EH A 523 1 0 6 6 5 18 0.278 443 536 0.826 6If
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